# R- Fuzzy Sets in Factor Space (Set Kabur R dalam Ruang Faktor)

## SIYUAN LIU, HONGHAI MI & TSANGCHEUNG CHOY\*

## ABSTRACT

Interval-valued fuzzy sets, both-branch fuzzy sets and  $\overline{\mathbf{R}}$ -Fuzzy sets are three extended forms of ordinary fuzzy sets. Compared to traditional fuzzy sets, interval-valued fuzzy sets have a stronger ability to express uncertainty because they provide more choices for the descriptions of attributes. Using both-branch fuzzy sets has solved some problems in engineering decision and engineering control. For  $\overline{\mathbf{R}}$ -Fuzzy sets, a new fuzzy system is constructed, with both-branch fuzzy sets as a special case. The resulting theorems improve the flexibility of uncertainty system models and expand the range of fuzzy system applications as well.

Keywords: Envelope of feedback extension; factor space; feedback extension; representation extension;  $\overline{\mathbf{R}}$ -Fuzzy set

#### ABSTRAK

Set kabur nilai selang, kedua-dua cabang set kabur dan set kabur  $\overline{\mathbf{R}}$  adalah tiga bentuk lanjutan daripada set kabur biasa. Berbanding dengan set kabur tradisi, set kabur nilai selang mempunyai lebih keupayaan untuk menunjukkan ketidakpastian kerana ia menyediakan lebih banyak pilihan untuk gambaran atribut. Penggunaan kedua-dua cabang set kabur telah menyelesaikan beberapa masalah dalam keputusan kejuruteraan dan kawalan kejuruteraan. Untuk set kabur  $\overline{\mathbf{R}}$ , satu sistem kabur baru dibina, dengan kedua-dua cabang set kabur dijadikan sebagai kes khas. Teorem yang terhasil meningkatkan kelenturan model sistem yang tidak menentu dan mengembangkan pelbagai aplikasi sistem kabur juga.

Kata kunci: Perluasan maklum balas; perwakilan maklum balas; ruang faktor; sampul perluasan maklum balas; set kabur R

## INTRODUCTION

In the early 1980s, Professor Peizhuang Wang introduced the concept of factor spaces. In 1982, he published the first article on factor spaces (Garg & Arora 2018; Van Hoof et al. 2018; Zhou et al. 2017), and subsequently this concept was further developed and applied. However, factor spaces were introduced based on Zadeh fuzzy sets, whereas the fuzzy decision and control of  $(-\infty,0)$  and  $(1,+\infty)$  are also important. Professor Kaiquan Shi proposed the concept of both-branch fuzzy sets (Verma & Parihar 2017) in 1997, and the proposal of the  $\overline{\bf R}$ -Fuzzy set in 2008 by Professor Hongxing Li accommodated for the shortcomings of Zadeh fuzzy sets.

First, several concepts are defined:

Definition 1.1 (Konieczny et al. 2017): For a given left matching (U, V], if a factor family  $F \subset V$ , then the set family  $\{X(f)\}_{f \subset T}$  is a factor space in U if it satisfies the axioms:

 $F = F(\land, \lor, c, 1, 0)$  is a complete Boolean algebra;  $X(0) = \{0\}$ ; For any  $T \subset F$ , if factor family T are pairwise independent, then  $\bigvee_{f \in T} f = \prod_{f \in T} f$ .  $\prod_{f \in T} f$  is herein referred to as the direct product of mappings (factors).

F is the factor family,  $f \subset F$  are the factors, and X(f) is the state space of f.

Definition 1.2 (Rikka et al. 2018): Zadeh fuzzy set  $\mu_A$ :  $X \rightarrow [0,1], x \rightarrow \mu_A(x)$ .  $\mu_A$  is the membership function, and  $\mu_A(x)$  is the membership degree of x to A.

Definition 1.3 (Neill et al. 2017): Both-branch fuzzy set:  $X \rightarrow [-1,1], x \rightarrow S(x)$ . S(x) is the fuzzy kiss function of x to S. For the given  $x_0 \subset X$ ,  $S(x_0)$  is the fuzzy kiss degree of  $x_0$  to S.

Professor Hongxing Li expanded the Zadeh fuzzy set and, with both-branch fuzzy sets as a special case, put forward the concept of  $\overline{\mathbf{R}}$ -Fuzzy set.

*Definition 1.4* (Story et al. 2018):  $\overline{\mathbf{R}}$  - Fuzzy set:  $A: X \rightarrow^{\circ}$  and ° represents the generalized set of real numbers, i.e.  $\overline{\circ} = \circ \cup \{-\infty, +\infty\}$ .

All  $\overline{\mathbf{R}}$ -Fuzzy sets on X are written as  $\overline{\circ}^X$ . When A is a bounded function, it is called aset. All bounded Fuzzy sets on X are denoted BF(X). Assuming  $A{\in}BF(X)$ , then there are  $c,d{\in}^\circ$ ,  $c{\leq}d$ , making  $A:X{\rightarrow}^\circ$ . It can be represented  $A:X{\rightarrow}[c,d]$ . If  $c\geq 0$ ,  $d\leq 1$ , bounded  $\overline{\mathbf{R}}$ -Fuzzy sets reduce to Zadeh fuzzy sets.

In fact, mappings can be used to connect Zadeh fuzzy sets with  $\overline{\mathbf{R}}$  - Fuzzy sets, i.e.

$$A(x) \triangleq \begin{cases} -\infty & x = 0; \\ \tan[\pi(x - 0.5)] & x \in (0,1); \\ +\infty & x = 1; \end{cases}$$
 (1)

In Zadeh fuzzy sets, the [0, 1] measure is used to represent degree of membership. Likewise, for a bounded Fuzzy set A,  $A(x) \in [0,d]$  shows the belonging degree of x to A. When A(x) = d, x can be supposed to totally belong to A; when A(x) = c, x does not belong to A; when c < A(x) < d,  $A(x) \in [0,d]$  means the degree of membership is some degree between c and d. Specifically, when c < 0 and  $d \ge 0$ ,  $A(x) \in [0,d]$  means the degree of x belonging to x.

The explanation for  $\mathbb{R}$ -Fuzzy sets A: when A is unbounded, if  $\sup\{A(x) | x \in X\} = +\infty$ , i.e.,  $\forall d > 0$ ,  $\exists x \in X$ , making A(x) > d, this represents that there are no elements totally belonging to A in X, but there are elements that are an arbitrarily close approximation to 'totally belonging'. If a concept of totally belonging is needed, it can be achieved by a supplementary provision. For example, by the inverse transformation of (1), a  $\mathbb{R}$ -Fuzzy set can be turned into an ordinary fuzzy.

## OPERATION AND EXTENSION OF FUZZY SETS

F = F(v, h, c, 1, 0) in Definition 1.1 1) is a complete Boolean algebra. Now we are going to study the algebraic structure of F when 0 and 1 are substituted with  $-\infty$  and  $-\infty$ .

*Definition 2.1* Two operations "v" and " $\Lambda$ " are defined in a set  $(-\infty, +\infty)$ :  $\forall \alpha, \beta, \gamma \in (-\infty, +\infty)$ ,  $\vee$  @sup,  $\Lambda$  @inf.

Idempotency:  $\alpha \vee \alpha = \alpha, \alpha \wedge \alpha = \alpha$ ; Commutativity:  $\alpha \vee \beta = \beta \vee \alpha$ ,  $\alpha \wedge \beta = \beta \wedge \alpha$ ; Associativity:  $(\alpha \vee \beta) \vee \gamma = \alpha \vee (\beta \vee \gamma)$ ,  $(\alpha \wedge \beta) \wedge \gamma = \alpha \wedge (\beta \wedge \gamma)$ ; Absorption law:  $(\alpha \vee \beta) \wedge \alpha = \alpha$ ,  $(\alpha \wedge \beta) \vee \alpha = \alpha$ , so that  $(\vee, \wedge, -\infty, +\infty)$  is a grid.

*Definition 2.2* If the grid (v, Λ,  $-\infty$ ,  $+\infty$ ) satisfies the distributive law,  $(\alpha v \beta)$   $\Lambda \gamma = (\alpha \Lambda \gamma)v(\beta \Lambda \gamma)$ ,  $(\alpha \Lambda \beta)v\gamma = (\alpha v \gamma)$   $\Lambda(\beta v \gamma)$ , then (v, Λ,  $-\infty$ ,  $+\infty$ ) is a distribution grid. In (v, Λ, c, 1, 0), there is the maximum element 1 and the minimum element 0; likewise, in (v, Λ, c,  $+\infty$ ,  $-\infty$ ), the 'maximal element' and the 'minimal element' are defined.

Definition 2.3 In the grid  $(v, h, -\infty, +\infty)$ ,  $+\infty$  is defined as the maximal element and  $-\infty$  is the minimal element. If they satisfy:

$$\forall x \in (-\infty, +\infty), x \lor (-\infty) = x, x \land (-\infty; x \lor (+\infty, x \land (+\infty) = x;$$

then there are maximal element  $+\infty$  and minimal element  $-\infty$  in  $(\vee, \wedge, -\infty, +\infty)$ .

Definition 2.4 If a complement c is defined in a distribution grid  $(v, \wedge, -\infty, +\infty)$  with maximal element and minimal

element, i.e.  $\forall x \in (-\infty, +\infty)$ , then  $x^c = -x$ . If it satisfies both resiliency law:  $c(c\alpha) = c(-\alpha) = \alpha$ ; and complementarity law:  $\alpha \lor (c\alpha) = +\infty$ ,  $\alpha \land (c\alpha) = -\infty$ , then  $(\lor, \land, -\infty, +\infty)$  is a Boolean algebra.

Definition 2.5 If the Boolean algebra  $(v, \Lambda, -\infty, +\infty)$  satisfies:

$$v \{\alpha \mid \alpha \in (-\infty, +\infty)\}$$
 @sup  $\{\alpha \mid \alpha \in (-\infty, +\infty)\};$ 

$$\wedge \{\alpha \mid \alpha \in (-\infty, +\infty)\} \ (\text{ainf}\{\alpha \mid \alpha \in (-\infty, +\infty)\};$$

then  $(v, \Lambda, -\infty, +\infty)$  is a complete Boolean algebra. In this way,  $(v, \Lambda, c, 1, 0)$  is extended to  $(v, \Lambda, c, +\infty, -\infty)$ .

## EXTENDED DEFINITION OF FACTOR SPACE

Definition 3.1 For a given left matching (U, V], if factor family  $F \subset V$ , then  $\{X(f)\}_{(f \in F)}$  is a factor space in U if it satisfies the axioms:

 $F = F(v, h, c, +\infty, -\infty)$  is a complete Boolean algebra;  $X(0) = \{0\}$ ; For any  $T \subset F$ , if factor family T is pairwise independent, then  $\int_{f \in T} f = \prod_{f \in T} f$ .  $\prod_{f \in T} f$  is herein referred to as the direct product of mappings (regarding the factors as mappings). F is the factor set,  $f \in F$  is the factor and X(f) is the state space of f.

## BASIC PROPERTIES AND THEOREMS OF $\overline{\mathbf{R}}$ - Fuzzy SETS

 $\overline{\textbf{R}}$ -Fuzzy sets, which have a wider range of applications compared to the classic fuzzy sets, interval value fuzzy sets and both-branch fuzzy sets. For specific applications, please refer to reference (Baggen et al. 2017; Jaffe et al. 2018; Zvika & Guy 2017).

Definition 4.1 For a given domain,  $A:X \to P((-\infty, +\infty))$ ,  $X^+(A) = \{x \in X | A(x) \text{I } [0, +\infty) \neq \emptyset\}$  is the upper domain of A;  $X^-(A) = \{x \in X | A(x) \text{I } [-\infty, 0) \neq \emptyset\}$  is the lower domain of A; and  $X^*(A) = X^+(A) \text{I } X^-(A)$  is the domain of A.

 $A^+$  is the  $\overline{\bf R}$ -Fuzzy set in the upper domain  $X^+$ , which is called the upper  $\overline{\bf R}$ -Fuzzy set;  $A^-$  is the  $\overline{\bf R}$ -Fuzzy set in the upper domain  $X^-$ , which is called lower  $\overline{\bf R}$ -Fuzzy set;  $A^*$  is the  $\overline{\bf R}$ -Fuzzy set in the upper domain  $X^*$ , which is called the domain  $\overline{\bf R}$ -Fuzzy set.

Definition 4.2 Assuming,  $\lambda \in (-\infty, +\infty)$ ,  $A_{\lambda}, A_{\lambda} \in P(X)$  are  $\lambda$ - cut set and  $\lambda$ -strong cut set of  $A \in {}^{\circ}$ , respectively, if they satisfy:  $A_{\lambda} = \{x \mid |A(x)| \ge |\lambda|\}$ ,  $A_{\lambda} = \{x \mid |A(x)| \ge |\lambda|\}$ . Hence, the  $\lambda$ - cut set  $A_{\lambda}^+$  and  $\lambda$ -strong cut set  $A_{\lambda}^+$  of A in upper domain  $X^+$  are:  $A_{\lambda}^+ = \{x \mid A^+(x) \ge \lambda\}$ ,  $A_{\lambda}^+ = \{x \mid A(x) > \lambda\}$ .

The  $\lambda$ - cut set  $A_{\lambda}^-$  and  $\lambda$ -strong cut set  $\lambda$  of A in upper domain  $X^-$  are:  $A^- = \{x \mid A^-(x) \le \lambda\}$ . Obviously:  $A_{\lambda}^+, A_{\lambda}^+ \subset X^+ \subset X$ ;  $A_{\lambda}^-, A_{\lambda}^- \subset X^- \subset X$ .

Definition 4.3 Assuming  $A^+ \in P(X)$  is the  $\lambda$ - cut set of  $A \in {}^{\circ}^X$  in  $X^+ \cup X^* \subset X$ , then  $A^+_{\lambda}(x)$  is the feature function of x with respect to  $A^+_{\lambda} \subset X + \cup X^*$ , and

$$A_{\lambda}^{+}(x) = \begin{cases} +\infty & x \in A_{\lambda}^{+} \\ 0 & x \notin A_{\lambda}^{+} \end{cases}$$

Definition 4.4 Assuming is the  $\lambda$  - cut set of  $A \in {}^{\circ}^{\times}$  in  $X^- \cup X^* \subset X$ , then  $A_{\overline{\lambda}}(x)$  is the feature function of x with respect to  $A_{\overline{\lambda}} \subset X^- \cup X^*$ , and

$$A_{\lambda}^{-}(x) = \begin{cases} -\infty & x \in A_{\lambda}^{-} \\ 0 & x \notin A_{\lambda}^{-} \end{cases}$$

Definition 4.5 Assume  $A \in {}^{\circ}^{X}$ ,  $\lambda \in (-\infty, +\infty)$ . Let  $\lambda A \in {}^{\circ}^{X}$ , with the membership function of  $\lambda A$  defined as:  $\lambda A(x) = \lambda \wedge A(x)$ .

At this point, the preparation has been finished. Next, the decomposition theorems of  $\overline{R}$ -Fuzzy sets are introduced.

Theorem 4.1 ( $\overline{\mathbf{R}}$ -Fuzzy set-decomposition theorem I) Assuming  $A \in \overline{\circ}^X$  is an  $\overline{\mathbf{R}}$ -Fuzzy set in X and  $A_{\lambda} \in P(X)$  is the  $\lambda$ -cut set of  $A \in \overline{\circ}^X$ , then  $A = \bigcup_{\lambda \in \{1, \dots, n\}} \lambda A_{\lambda}$ .

Proof

If  $\lambda \in (-\infty, 0]$ , then  $\forall x \in X^- \cup X^*$ , i.e.

$$\begin{split} &\bigcup_{\lambda \in (-\infty, +\infty)} \lambda A_{\lambda}(x) = \bigvee_{\lambda \in (-\infty, 0]} (\lambda \wedge A_{\lambda}(x)); \\ &= (\bigvee_{\lambda \in (-\infty, A(x)]} (\lambda \wedge A_{\lambda}(x))) \vee (\bigvee_{\lambda \in (A(x), 0]} (\lambda \wedge A_{\lambda}(x))) \\ &= \bigvee_{\lambda \in (-\infty, A(x)]} (\lambda \wedge A_{\lambda}(x)) \\ &= \bigvee_{\lambda \in (-\infty, A(x)]} \lambda \\ &= A(x) \end{split}$$

If  $\lambda \in [0, -\infty)$ , it can be proven by the same argument. Therefore,  $A = \bigcup_{\lambda \in [0, +\infty)} \lambda A_{\lambda}$ .

Theorem 4.2 ( $\overline{\mathbf{R}}$ -Fuzzy set-decomposition theorem II) Assuming  $A \in {}^{\circ}{}^X$  is an  $\overline{\mathbf{R}}$ -Fuzzy set in X and  $A_{\lambda} \in P(X)$  is the  $\lambda$ -strong cut set of  $A \in {}^{\circ}{}^X$ , then  $A = \bigcup_{\lambda \in (-\infty, +\infty)} \dot{\lambda} A_{\lambda}$ .

*Proof* The same as that of Theorem 4.1.

Theorem 4.3 ( $\overline{\mathbf{R}}$  - Fuzzy set- decomposition theorem III) Assume  $A \in {}^{\circ}{}^X$  is an  $\overline{\mathbf{R}}$  - Fuzzy set in X, while mapping  $H: (-\infty, +\infty) \to P(X), \lambda \to H(\lambda)$  satisfies that if  $\lambda \in (-\infty, +\infty)$ , then  $A_{\lambda} \subseteq H(\lambda) \subseteq A_{\lambda}$ . Therefore,  $A = \bigcup_{\lambda \in (-\infty, +\infty)} \lambda H(\lambda)$ .

*Proof* 1) If  $\lambda \in (-\infty, 0]$ , since  $A_{\lambda} \subseteq H(\lambda) \subseteq A_{\lambda}$ , hence  $\lambda A_{\lambda} \subseteq \lambda H(\lambda) \subseteq \lambda A_{\lambda}$ .

From Theorem 4.1 it is known that  $A = \bigcup_{\lambda \in (-\infty,0]} \lambda A_{\lambda}$ , and  $A = \bigcup_{\lambda \in (-\infty,0]} \lambda A_{\lambda}$  from Theorem 4.2. So  $A = \bigcup_{\lambda \in (-\infty,0]} \lambda A_{\lambda} \subseteq \bigcup_{\lambda \in (-\infty,0]} \lambda A_{\lambda}$ 

 $H(\lambda) \subseteq \bigcup_{\lambda \in (-\infty,0]} \lambda A_{\lambda} = A$ , and from the squeeze theorem we can know  $A = \bigcup_{\lambda \in (-\infty,0]} \lambda H(\lambda)$ .

If  $\lambda \in [0,+\infty)$ , the proof is the same as 1).

Therefore,  $A = \bigcup_{\lambda \in (-\infty, +\infty)} \lambda H(\lambda)$ .

The representation theorem of  $\overline{R}$ -Fuzzy sets is introduced herewith. First, several relevant concepts and lemmas are introduced.

Definition 4.6 Assume the mapping  $H: (-\infty, +\infty) \rightarrow P(X)$  satisfies 1)  $\forall \lambda_1, \lambda_2 \in (-\infty, 0]$ , and  $\lambda_1 \leq \lambda_2$ , then  $H(\lambda_1) \supseteq H(\lambda_2)$ ; 2)  $\forall \lambda_1, \lambda_2 \in [0, +\infty)$ , and  $\lambda_1 \leq \lambda_2$ , then  $H(\lambda_1) \subseteq H(\lambda_2)$ . H is then called the nested set in X. All the nested sets in X is marked as R(X). (H is an ordinary set rather than a fuzzy set).

Definition 4.7 Assuming  $H(\lambda) \in R(X)$ , if  $\lambda \in (-\infty,0]$ ,  $H(\lambda)$  is the feature function of x with respect to  $H(\lambda)$ , and

$$H(\lambda)(x) = \begin{cases} -\infty & x \in H(\lambda) \\ 0 & x \notin H(\lambda) \end{cases}$$

Definition 4.8 Assuming  $H(\lambda) \in R(X)$ , if  $\lambda \in [0,+\infty)$ ,  $H(\lambda)$  is the feature function of x with respect to  $H(\lambda)$ , and

$$H(\lambda)(x) = \begin{cases} +\infty & x \in H(\lambda) \\ 0 & x \notin H(\lambda) \end{cases}$$

Definition 4.9 Assuming  $H(\lambda) \in R(X)$  and  $\lambda \in (-\infty, +\infty)$ , define  $(\lambda H(\lambda))(x) = \lambda \wedge H(\lambda)(x)$ . Obviously, if  $\lambda \in (-\infty, 0]$ , then

$$(\lambda H(\lambda))(x) = \begin{cases} -\infty & x \in H(\lambda) \\ \lambda & x \notin H(\lambda) \end{cases}; \text{ if } \lambda \in [0, +\infty), \text{ then }$$

$$(\lambda H(\lambda))(x) = \begin{cases} \lambda & x \in H(\lambda) \\ 0 & x \notin H(\lambda) \end{cases}$$

Lemma 4.1 Let  $A \in {}^{\overline{\circ}^X}$  be an  $\overline{\mathbf{R}}$  - Fuzzy set on X.

$$\begin{split} &\text{If } \lambda_1, \lambda_2 \! \in \! (-\infty,\! 0] \text{ and } \lambda_1 \! < \! \lambda_2, \text{then } A_{\lambda_1} \subseteq A_{\lambda_2}, A_{\lambda_1} \subseteq A_{\lambda_2}, A_{\lambda_1} \subseteq A_{\lambda_2}; \\ &2) \text{ If } \lambda_1, \, \lambda_2 \! \in \! [0, +\infty) \text{ and } \lambda_1 \! < \! \lambda_2, \text{ then } A_{\lambda_1} \supseteq A_{\lambda_2}, A_{\lambda_1} \supseteq A_{\lambda_2}, \\ &A_{\lambda_1} \supseteq A_{\lambda_2}. \end{split}$$

Proof It obviously holds.

*Lemma 4.2* Assume  $A \in \stackrel{\neg}{\circ}^X$ ,  $t \in T \lambda \in (-\infty, +\infty)$ . Then:

If  $\lambda_{t} \in (-\infty, 0]$ , then  $\bigcap_{t \in T} A_{\lambda_{t}} = A_{\binom{\wedge}{t \in T}} A_{\lambda_{t}}$ ,  $\bigcup_{t \in T} A_{\lambda_{t}} = A_{\binom{\vee}{t \in T}} \lambda_{t}$ ; 2) If  $\lambda_{t} \in [0, +\infty)$ , then  $\bigcap_{t \in T} A_{\lambda_{t}} = A_{\binom{\vee}{t \in T}} \lambda_{t}$ ,  $\bigcup_{t \in T} A_{\lambda_{t}} = A_{\binom{\wedge}{t \in T}} \lambda_{t}$ .

Proof

1) Assuming 
$$\lambda_t \in (-\infty, 0]$$
, then  $u \in A_{(\frac{\lambda}{t}, \lambda_t)} \Leftrightarrow A(u) \leq \sum_{t \in T} \lambda_t$   
 $\Leftrightarrow \forall t \in T$ , then  $A(u) \leq \lambda_t$   
 $\Leftrightarrow \forall t \in T$ ,  $U \in A_{\lambda_t}$ ,  
 $\Leftrightarrow u \in I_t A_{\lambda_t}$ 

i.e. 
$$\bigcap_{t \in T} A_{\lambda_t} = A_{\binom{\wedge}{t \in T} \lambda_t}$$

$$u \in A_{\binom{\vee}{t \in T} \lambda_t} \Leftrightarrow A(u) < \bigvee_{t \in T} \lambda_t$$

$$\Leftrightarrow \exists t_0 \in T, \text{ making } A(u) < \lambda_{t_0}$$

$$\Leftrightarrow \exists t_0 \in T, u \in A_{\lambda_{t_0}}$$

$$\Leftrightarrow u \in \bigcup_{t \in T} A_{\lambda_t}$$
i.e. 
$$\bigcup_{t \in T} A_{\lambda_t} = A_{\binom{\vee}{t \in T} \lambda_t}$$

## 2) The same argument is used.

Theorem 4.4 (Representation theorem of  $\overline{\mathbf{R}}$ -Fuzzy set) Assuming  $H(\lambda) \in R(X)$ , then  $\bigcup_{\lambda \in (-\infty, +\infty)} \lambda H(\lambda)$  is a  $\overline{\mathbf{R}}$ -Fuzzy set on X and is marked as A;  $\bigcup_{\lambda \in (-\infty, 0]} \lambda H(\lambda)$  is a lower  $\overline{\mathbf{R}}$ -Fuzzy set on X and  $\bigcup_{\lambda \in (0, +\infty)} \lambda H(\lambda)$  is an upper  $\overline{\mathbf{R}}$ -Fuzzy set on X.

In addition, 1) If  $\lambda \in (-\infty,0]$ , then

a) 
$$A_{\lambda} = \bigcap_{k \ge 1} H(k) \quad \lambda \ne 0$$
 (1)

b) 
$$A_{\lambda} = \bigcup_{k>3} H(k) \quad \lambda \neq +\infty$$
 (2)

2) If  $\lambda \in [0, +\infty)$ , then

a) 
$$A_{\lambda} = \bigcap_{k \neq 1} H(k) \quad \lambda \neq 0$$
 (3)

b) 
$$A_{\lambda} = \bigcup_{k > \lambda} H(k) \quad \lambda \neq +\infty$$
 (4)

Proof  $\overline{\mathbf{R}}$  - Fuzzy set:  $\forall \lambda \in (-\infty, +\infty)$ , that is  $\forall \lambda \in (-\infty, +\infty)$  and  $\bigcup_{\lambda \in (-\infty, +\infty)} \lambda H(\lambda) \in \widehat{\phantom{A}}^{-X}$ , let  $A = \bigcup_{\lambda \in (-\infty, +\infty)} \lambda H(\lambda)$ . From Definition 4.9 it follows that  $\bigcup_{\lambda \in (-\infty, 0]} \lambda H(\lambda) \in (-\infty, 0]$ , so  $\bigcup_{\lambda \in (-\infty, 0]} \lambda H(\lambda)$  is a lower  $\overline{\mathbf{R}}$  - Fuzzy set on X. With the same argument, from Definition 4.9 it follows that  $\bigcup_{\lambda \in (0, +\infty)} \lambda H(\lambda) \in [0, +\infty)$ , so  $\bigcup_{\lambda \in (0, +\infty)} \lambda H(\lambda)$  is a upper  $\overline{\mathbf{R}}$  - Fuzzy set on X.

The four formulas are proven as follows:

To prove these four formulas,  $\forall \lambda \in (-\infty, +\infty)$ ,  $A_{\lambda} \subseteq H(\lambda) \subseteq A_{\lambda}$  has to be proven first.

*Proof* If  $\lambda \in (-\infty, 0]$ , assume  $x \notin H(\lambda)$ , i.e.  $H(\lambda) = 0$ . Since

$$A(x) = \bigcup_{\alpha \in (-\infty,0]} \alpha H(\alpha)(x) = \bigvee_{\alpha \in (-\infty,0]} (\alpha \wedge H(\alpha))(x) \ge \lambda \wedge H(\lambda)(x) = \lambda,$$

i.e.  $A(x) \ge \lambda$ , then  $x \notin A_{\lambda}$  and  $A_{\lambda} \subseteq H(\lambda)$ .

Assume  $x \notin A_{\lambda}$ , i.e.  $A(x) > \lambda$ . Since  $A(x) = \bigcup_{\alpha \in (-\infty, 0]} \alpha H(\alpha)(x)$ , then  $\bigcup_{\alpha \in (-\infty, 0]} \alpha H(\alpha)(x) > \lambda$ ,  $\bigvee_{\alpha \in (-\infty, 0]} (\alpha \wedge H(\alpha))(x) > \lambda$ .

Therefore,  $\exists \alpha_0 \in (-\infty, 0]$ , making  $\alpha_0 \land H(\alpha_0)(x) > \lambda$ . So  $\exists \alpha_0 \in (-\infty, 0]$ , making  $\alpha_0 > \lambda$  and  $H(\alpha_0)(x) > \lambda$ .

Since  $H(\alpha_0)(x)$  can only be  $-\infty$  or 0, it follows that  $H(\alpha_0)(x) = 0$ , so it follows that  $x \notin H(\alpha_0)$  from Definition 4.7.

Since  $\alpha_0 > \lambda$ , it can be known that  $H(\alpha_0) \subseteq H(\lambda)$  from Definition 4.6, hence  $x \notin H(\lambda)$  and  $H(\lambda) \subseteq A_1$ .

Therefore, if  $\forall \lambda \in (-\infty, 0]$ ,  $A_{\lambda} \subseteq H(\lambda) \subseteq A_{\lambda}$ .

If  $\lambda \in [0,+\infty)$ , it can be proven by the same argument. Therefore,  $\forall \lambda \in (-\infty,+\infty)$ ,  $A_{\lambda} \subseteq H(\lambda) \subseteq A_{\lambda}$  holds.

The proof of the four formulas:

Formula (1): For  $\forall \lambda \in (-\infty, 0]$ ,  $k > \lambda$ , it can be known that  $A_{\lambda} \subseteq A_{k}$  from Lemma 4.1.

Since  $A_k \subseteq H(k) \subseteq A_k$  holds, it follows that  $A_\lambda \subseteq A_k$   $\subseteq H(k) \subseteq A_k$  and  $A_\lambda \subseteq \bigcap_{k > \lambda} H(k)$ ,  $\lambda \neq 0$ ; since  $H(k) \subseteq A_k$ , it follows that  $H(k) \subseteq A_k$ . From Lemma 4.2 it is known that  $\bigcap_{k > \lambda} A_k = A_{\binom{n}{k > \lambda}}$  and  $A_{\binom{n}{k > \lambda}} = A_\lambda$ , so  $A_\lambda \supseteq \bigcap_{k > \lambda} H(k)$ ,  $\lambda \neq 0$ . Therefore,  $A_\lambda = \bigcap_{k > \lambda} H(k)$ ,  $\lambda \neq 0$ , that is, Formula (1) holds.

Formula (2): For  $\forall \lambda \in (-\infty,0]$ ,  $k < \lambda$ , it can be known that  $A_k \subseteq A_{\lambda}$  from Lemma 4.1. Since  $A_k \subseteq H(k) \subseteq A_k$  holds, it follows  $A_k \subseteq H(k) \subseteq A_k \subseteq A_k$  and; since  $H(k) \supseteq A_k$ , it follows that  $\bigcup_{k < \lambda} H(k) \supseteq \bigcup_{k < \lambda} A_k$ . From Lemma 4.2 it can be known that  $\bigcup_{k < \lambda} A_k = A_{(\sum_{k < \lambda} k)}$  and  $A_{(\sum_{k < \lambda} k)} = A_{\lambda}$ , so  $A_{\lambda} \subseteq \bigcup_{k < \lambda} H(k)$ ,  $\lambda \neq -\infty$ . Therefore,  $A_{\lambda} = \bigcup_{k < \lambda} H(k)$ ,  $\lambda \neq -\infty$ , that is, Formula (1) holds. Formula (3) and Formula (4) can be proven by the same arguments. In summary, the proof of Theorem 4.4 is completed.

## EXTENSION PRINCIPLE OF SET

Let  $\circ^{-X}$  be a set of  $\overline{\mathbf{R}}$  - Fuzzy sets on X, and  $\circ^{-Y}$  be a set of  $\overline{\mathbf{R}}$  - Fuzzy sets on Y.

Definition 5.1 (Max-max extension principle) Assume mapping  $f: X \to Y, x \mapsto f(x)$ . Then f can induce a mapping from to and a mapping from  $\overline{\circ}^x$  to  $\overline{\circ}^y$ 

$$f; \stackrel{\neg}{\circ}^{X} \rightarrow \stackrel{\neg}{\circ}^{Y}, A \mapsto f(A)$$

$$f^{-1}; \stackrel{\neg}{\circ}^{Y} \rightarrow \stackrel{\neg}{\circ}^{X}, B \mapsto f^{-1}(B).$$

The fuzzy kiss functions of f(A) and  $f^{-1}(B)$  are defined as:

 $f(A)^{-}(y) = \bigvee_{f(x)=y} A^{-}(x), f(A)^{+}(y) = \bigvee_{f(x)=y} A^{+}(x), \text{ respectively,}$  (when  $\{x \in X \mid f(x) = y\} = \emptyset, f(A)(y) = 0\}$ ). f(A) is the image of A and  $f^{-1}(B)$  is the inverse image of B.

Definition 5.2 (Min-min extension principle) Assume mapping  $f: X \to Y, x \mapsto f(x)$ . Then f can induce a mapping from  $\int_{-\infty}^{\infty} x \, dx$  to  $\int_{-\infty}^{\infty} x \, dx$  and a mapping from  $\int_{-\infty}^{\infty} x \, dx$ 

$$f: \overline{\circ}^X \to \overline{\circ}^Y, A \mapsto f(A)$$

$$f^{-1}: \stackrel{\neg}{\circ}^{Y} \rightarrow \stackrel{\neg}{\circ}^{X}, B \mapsto f^{-1}(B).$$

The fuzzy kiss functions of f(A) and  $f^{-1}(B)$  are defined as:

 $f(A)^-(y) = \bigwedge_{f(x)=y} A^-(x), f(A)^+(y) = \bigwedge_{f(x)=y} A^+(x)$ , respectively, (when  $\{x \in X | f(x) = y\} = \emptyset, f(A)(y) = 0$ ). f(A) is the image of A and  $f^{-1}(B)$  is the inverse image of B.

Definition 5.3 (Min-max extension principle) Assume mapping  $f: X \to Y, x \mapsto f(x)$ . Then f can induce a mapping from  $\overline{\circ}^X$  to  $\overline{\circ}^Y$  and a mapping from  $\overline{\circ}^X$  to  $\overline{\circ}^X$ .

$$f: \overline{\circ}^{X} \to \overline{\circ}^{Y}, A \mapsto f(A)$$

$$f^{-1}: \overline{\circ}^{Y} \to \overline{\circ}^{X}, B \mapsto f^{-1}(B).$$

The fuzzy kiss functions of f(A) and  $f^{-1}(B)$  are defined as:

 $f(A)^-(y) = \bigwedge_{f(x)=y} A^-(x), f(A)^+(y) = \bigvee_{f(x)=y} A^+(x)$ , respectively, (when  $\{x \in X \mid f(x) = y\} = \emptyset, f(A)(y) = 0$ ). is the image of A and  $f^{-1}(B)$  is the inverse image of B.

Definition 5.4 (Max-min extension principle) Assume mapping  $f: X \to Y, x \mapsto f(x)$ . Then f can induce a mapping from  $\overline{\circ}^X$  to  $\overline{\circ}^Y$  and a mapping from  $\overline{\circ}^Y$  to  $\overline{\circ}^X$ .

$$f: \stackrel{\neg}{\circ}^{X} \to \stackrel{\neg}{\circ}^{Y}, A \mapsto f(A)$$
$$f^{-1}: \stackrel{\neg}{\circ}^{Y} \to \stackrel{\neg}{\circ}^{X}, B \mapsto f^{-1}(B)$$

The fuzzy kiss functions of f(A) and  $f^{-1}(B)$  are defined as:

 $f(A)^{-}(y) = \bigwedge_{f(x)=y}^{\Lambda} A^{-}(x), f(A)^{+}(y) = \bigvee_{f(x)=y}^{V} A^{+}(x)$ , respectively, (when  $\{x \in X \mid f(x) = y\} = \emptyset$ , f(A)(y) = 0). f(A) is the image of A and  $f^{-1}(B)$  is the inverse image of B.

To distinguish them, the various f(A) obtained by the four extension principles are referred to as  $f_{\max{-\max}}(A)$ ,  $f_{\min{-\min}}(A)$ ,  $f_{\min{-\min}}(A)$ ,  $f_{\min{-\min}}(A)$ . The rationality of the discussed definitions can be

The rationality of the discussed definitions can be proven by the representation theorem of  $\overline{\mathbf{R}}$ -Fuzzy sets. The rationality of the max-max extension principle is proven herewith.

Theorem 5.1 Assume Mapping  $f: X \to Y, x \mapsto f(x)$ 1) If  $A \in F(X)$ , then

$$f_{\text{max-max}}(A)^{-}(y) = (\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y), f_{\text{max-max}}(A)^{+}(y) = (\bigcup_{\lambda \in [0,\infty)} \lambda f(A_{\lambda}))(y);$$

If  $B \in F(Y)$ , then

$$\begin{split} &(f^{-2}(B))^{-}(x) = B^{-}(f(x)) = (\bigcup_{\lambda \in (-\infty, 0]} \lambda f^{-1}(B_{\lambda}))(x); \\ &(f^{-1}(B))^{+}(x) = B^{+}(f(x)) = (\bigcup_{\lambda \in [0, +\infty)} \lambda f^{-1}(B_{\lambda}))(x) \end{split}$$

*Proof* 1) If  $\{x \in X \mid f(x) = y\} = \emptyset$ , i.e. f(A)(y) = 0, then the theorem holds obviously. For  $\{x \in X \mid f(x) = y\} \neq \emptyset$ , if  $\lambda \in (-\infty, 0]$ , then

$$\begin{split} (\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y) &= \bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge f(A_{\lambda})(y)) \\ &= \bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge (\bigvee_{f(x)=y} A_{\lambda}(x))) \\ &= \bigvee_{f(x)=y} (\lambda \wedge (\bigvee_{\lambda \in (-\infty,0]} A_{\lambda}(x))) \\ &= \bigvee_{f(x)=y} A^{-}(x) \\ &= f_{\max-\max}(A)^{-}(y) \end{split}$$

It can also be proven by the same argument if  $\lambda \in [0, +\infty)$ . Therefore,

$$f_{\text{max-max}}(A)^{-}(y) = (\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y),$$
  
$$f_{\text{max-max}}(A)^{+}(y) = (\bigcup_{\lambda \in \{0,+\infty\}} \lambda f(A_{\lambda}))(y).$$

2) If  $\lambda \in (-\infty, 0]$ , then

$$(\bigcup_{\lambda \in (-\infty,0]} \lambda f^{-1}(B_{\lambda}))(x) = \bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge f^{-1}(B_{\lambda})(x))$$

$$= \bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge B_{\lambda}(f(x)))$$

$$= B^{-}(f(x))$$

$$= (f^{-}(B))^{-}(x)$$

It can also be proven by the same argument if  $\lambda$   $\in$  [0,  $+\infty$ ). Therefore,

$$(f^{-1}(B))^{-}(x) = B^{-}(f(x)) = (\bigcup_{\lambda \in (-\infty, 0)} \lambda f^{-1}(B_{\lambda}))(x).$$

The rationality of the min-min extension principle is proven herewith.

Theorem 5.2 Assume mapping  $f: X \to Y, x \mapsto f(x)$ 

1) If  $A \in F(X)$ , then  $f_{\min-\min}(A)^{-}(y) = (\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y),$   $f_{\min-\min}(A)^{+}(y) = (\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y);$ 

2) If  $B \in F(Y)$ , then

$$(f^{-}(B))^{-}(x) = B^{-}(f(x)) = (\bigcup_{\lambda \in (-\infty, 0]} \lambda f^{-1}(B_{\lambda}))(x);$$

$$(f^{-1}(B))^{+}(x) = B^{+}(f(x)) = (\bigcup_{\lambda \in [0, +\infty)} \lambda f^{-1}(B_{\lambda}))(x).$$

*Proof* 1) If  $\{x \in X \mid f(x) = y\} = \emptyset$ , i.e. f(A)(y) = 0, then the theorem holds obviously.

For 
$$\{x \in X \mid f(x) = y\} \neq \emptyset$$
, if  $\lambda \in (-\infty, 0]$ , then 
$$(\bigcup_{\lambda \in (-\infty, 0]} \lambda f(A_{\lambda}))(y) = \bigvee_{\lambda \in (-\infty, 0]} (\lambda \wedge (\bigwedge_{f(x) = y} A_{\lambda}(x))).$$
Obviously  $\lambda \wedge (\bigwedge_{f(x) = y} A_{\lambda}(x)) \leq \lambda \wedge A_{\lambda}(x)$  so  $\bigvee_{\lambda \in (-\infty, 0]} (\lambda \wedge A_{\lambda}(x)))$ 

$$\leq \bigvee_{\lambda \in (-\infty, 0)} (\lambda \wedge A_{\lambda}(x))).$$

Therefore, 
$$\bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge (\bigwedge_{\ell(x)=\nu} A_{\lambda}(x))) \leq \bigwedge_{\ell(x)=\nu} (\bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge A_{\lambda}(x))).$$

The proof of the establishment of the 'equal sign' is presented herewith. A proof by contradiction is used: if there is  $\alpha \in (-\infty, 0]$ , then  $\bigvee_{\lambda \in (-\infty, 0]} (\lambda \wedge (\bigwedge_{f(x)=y}^{\Lambda} A_{\lambda}(x))) \leq \alpha < \bigwedge_{f(x)=y}^{\Lambda} (\bigvee_{\lambda \in (-\infty, 0]} (\lambda \wedge A_{\lambda}(x)))$ , but  $A_{\alpha}(x)$  can only be  $-\infty$  or 0.

a) If 
$$\bigwedge_{f(x)=y}^{\Lambda} A_{\alpha}(x) = 0$$
, then 
$$\alpha > \bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge (\bigwedge_{f(x)=y}^{\Lambda} A_{\lambda}(x))) \ge \alpha \wedge (\bigwedge_{f(x)=y}^{\Lambda} A_{\alpha}(x)) = \alpha \wedge 0 = \alpha.$$

Therefore, it is a contradiction.

b) If  $\bigwedge_{f(x)=y} A_{\alpha}(x) = -\infty$ , then  $X_0 \in (-\infty, 0]$ , and then  $f(X_0) = y$  and  $A_{\alpha}(X_0) = -1$ . So, for any  $\lambda \ge \alpha$ ,  $A_{\alpha}(X_0) = -1$ .

$$\begin{split} &\alpha < \bigwedge_{f(x) = y} (\bigvee_{\lambda \in (-\infty, 0]} (\lambda \wedge A_{\lambda}(x))) \leq \bigvee_{\lambda \in (-\infty, 0]} (\lambda \wedge A_{\lambda}(x_{0})) \\ &= (\bigvee_{\lambda \in (-\infty, \alpha]} (\lambda \wedge A_{\lambda}(x_{0}))) \vee (\bigvee_{\lambda \in [\alpha, 0]} (\lambda \wedge A_{\lambda}(x_{0}))) \\ &= \bigvee_{\lambda \in (-\infty, \alpha]} (\lambda \wedge A_{\lambda}(x_{0})) \leq \bigvee_{\lambda \in (-\infty, \alpha]} \lambda = \alpha \end{split}$$

Therefore, it is a contradiction.

Therefore, the 'equal sign' holds. That is,  $\bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge (\bigwedge_{(x,y)} A_i(x))) = \bigwedge_{(x,y)} (\bigvee_{(x,y)} A_i(x)) (\lambda \wedge A_i(x))$ .

Therefore,  $(\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y) = \bigwedge_{f(x)=y} (\bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge A_{\lambda}(x)))$ =  $\bigwedge_{f(x)=y} A^{-}(x) = f_{\min-\min}(A)^{-}(y)$ . That is, if,  $\lambda \in (-\infty,0]$ ,  $(\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y) = f_{\min-\min}(A)^{-}(y)$ , and it can also be proven by the same argument if  $\lambda \in [0,+\infty)$ .

Therefore, 
$$f_{\min-\min}(A)^-(y) = \bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y), f_{\min-\min}(A)^+(y) = \bigcup_{\lambda \in (0,+\infty)} \lambda f(A_{\lambda}))(y).$$

2) If  $\lambda \in (-\infty, 0]$ , then

$$(\bigcup_{\lambda \in (-\infty,0]} \lambda f^{-1}(B_{\lambda}))(x) = \bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge f^{-1}(B_{\lambda})(x))$$

$$= \bigvee_{\lambda \in (-\infty,0]} (\lambda \wedge B_{\lambda}(f(x)))$$

$$= B^{-}(f(x))$$

$$= (f^{-}(B))^{-}(x)$$

It can also be proven by the same argument if  $\lambda \in [0,+\infty)$ . So

$$\begin{split} &(f^{-1}(B))^{-}(x) = B^{-}(f(x)) = (\bigcup_{\lambda \in (-\infty,0]} \lambda f^{-1}(B_{\lambda}))(x); \\ &(f^{-1}(B))^{+}(x) = B^{+}(f(x)) = (\bigcup_{\lambda \in [0,+\infty)} \lambda f^{-1}(B_{\lambda}))(x). \end{split}$$

The rationality of the min-max extension principle is stated herewith.

Theorem 5.3 Assume mapping  $f: X \to Y$ ,  $x \mapsto f(x)$ 1) If  $A \in F(X)$ , then

$$f_{\min-\max}(A)^{-}(y) = (\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y),$$
  
$$f_{\min-\max}(A)^{+}(y) = (\bigcup_{\lambda \in (0,+\infty)} \lambda f(A_{\lambda}))(y)$$

2) If  $B \in F(Y)$ , then

$$(f^{-1}(B))^{-}(x) = B^{-}(f(x)) = (\bigcup_{\lambda \in (-\infty,0]} \lambda f^{-1}(B_{\lambda}))(x)$$

The rationality of the max-min extension principle is stated herewith.

Theorem 5.4 Assume mapping  $f: X \to Y, x \mapsto f(x)$ 

1) If  $A \in F(Y)$ , then

$$f_{\text{max-min}}(A)^{-}(y) = (\bigcup_{\lambda \in (-\infty,0]} \lambda f(A_{\lambda}))(y),$$
  
$$f_{\text{max-min}}(A)^{+}(y) = (\bigcup_{\lambda \in (0,\infty)} \lambda f(A_{\lambda}))(y).$$

2) If, then

$$(f^{-1}(B))^{-}(x) = B^{-}(f(x)) = (\bigcup_{\lambda \in (-\infty, 0]} \lambda f^{-1}(B_{\lambda}))(x);$$
  
$$(f^{-1}(B))^{+}(x) = B^{+}(f(x)) = (\bigcup_{\lambda \in (0, +\infty)} \lambda f^{-1}(B_{\lambda}))(x).$$

The proofs of the two theorems are the same as those of Theorem 5.1 and 5.2, therefore, they are omitted.

Although we can study some properties of these extension principles, they are not further described here since they are not the focus of this article.

## FOUR TYPES OF REPRESENTATION EXTENSIONS AND FEEDBACK EXTENSIONS OF THE $\overline{\mathbf{R}}$ - Fuzzy Concept

With the extension principle mentioned before, every type of representation extension of  $\overline{\mathbf{R}}$ -Fuzzy can be defined. With representation extensions, the feedback extension of a concept can be constructed and the feedback extension envelope can be defined as an approximation of the concept (Sefusatti et al. 2018; Siwak et al. 2017; Zhang et al. 2017).

Definition 6.1 For a given description frame (U, C, F), if  $\underline{\alpha} \in C$ , assume the extension of concept  $\alpha$  in U is the  $\mathbf{R}$ -Fuzzy set A. For all  $f \in F$ , mark

$$f(A): X(f) \rightarrow [0,1], x \mapsto f(A)(x).$$

f(A) is a  $\overline{\mathbf{R}}$  - Fuzzy set of representation domain X(f) i.e.  $f(A) \in \overline{\circ}^X$ .

- 1) If  $f(A) = f_{\text{max-max}}(A)$ , and  $\overline{\circ}^X$ , then f(A) is the max-max type representation extension of concept  $\alpha$  in representation domain X(f);
- 2) If  $f(A) = f_{\min-\min}(A)$ , and  $f_{\min-\min}(A)^-(y) = f(x)^-y A^-(x)$ ,  $f_{\min-\min}(A)^+(y) = f(x)^-y A^+(x)$ , then f(A) is the minmin type representation extension of concept  $\alpha$  in representation domain X(f);
- 3) If  $f(A) = f_{\min-\max}(A)$ , and  $f_{\min-\max}(A)^ (y) = \bigwedge_{f(x)=y} A^-(x)$ ,  $f_{\min-\max}(A)^+(y) \bigwedge_{f(x)=y} A^+(x)$ , then f(A) is the min-max type representation extension of concept  $\alpha$  in representation domain X(f);
- 4) If  $f(A) = f_{\text{max-min}}(A)$ , and  $f_{\text{max-min}}(A)^-(y) = \bigwedge_{f(x)=y} A^-(x)$ ,  $f_{\text{max-min}}(A)^+(y) = \bigwedge_{f(x)=y} A^+(x)$ , then f(A) is the max-

min type representation extension of concept  $\alpha$  in representation domain X(f);

Definition 6.2 For a given description frame (U, C, F], if, assuming the representation extension of concept α in representation domain X(f) is  $B(f) \in {}^{\sigma}{}^{X}$ , then  $f^{-1}(B(f))$  is a max-max (min-min, min-max, max-min) type feedback extension if B(f) is a max-max (min-min, min-max, max-min) type representation extension (Anderson et al. 2018; Burkert et al. 2018; Francoenzástiga et al. 2017).

Theorem 6.1 For a given description frame (U, C, F], if  $\alpha \in C$ , assuming the extension of concept  $\alpha$  in U is an  $\mathbb{R}$ -Fuzzy set A, then the following conclusions hold:

$$\forall f, g \in F, f \ge g \Rightarrow \int_g^f g_{\max-\max}(A) \supseteq f_{\max-\max}(A).$$

2)  $\forall f \in F, f^{-1}(f_{\max{-}\max}(A)) \supseteq A$ , the equation holds if f is an injective function;  $\forall f; g \in F; f \ge g \Rightarrow f^{-1}(f_{\max{-}\max}(A)) \subseteq g^{-1}; \infty^{-1}(\infty_{\max{-}\max}(A)) = A; \forall u \in U, 0^{-1}(0_{\max{-}\max}(A)^{-1}(u)) = V_{u \in U} A^{-1}(u'), 0^{-1}(0_{\max{-}\max}(A) + u) = V_{u \in U} A^{-1}(u'); Assuming <math>G \subseteq F, h = V_{f \in G} f$ , if the elements in G are independent, then  $\bigcap_{f \in G} f^{-1}(f_{\max{-}\max}(A)) = h^{-1}(\bigcap_{f \in G} f_{\max{-}\max}(A))$ .

Proof

1) If  $(x, y) \in X(f) = X(g) \times X(f - g)$ , then

$$\uparrow_g^f g_{\text{max-max}}(A)(x,y) = g_{\text{max-max}}(A)(x) = \bigvee_{g(u)=x} A(u)$$

$$f_{\text{max-max}}(A)(x,y) = \bigvee_{g(u)=x} A(u)$$

It follows from  $f \ge g$  that for  $\forall u \in U$ , f(u) = (x, y)  $\Rightarrow g(u) = x$ . Therefore,  $\bigvee_{g(u)=x} A(u) \ge \bigvee_{f(u)=(x,y)} A(u)$ , i.e.  $\bigwedge_g^f g_{\max{-\max}}(A) \supseteq f_{\max{-\max}}(A)$ .

2) For any  $u \in U$ , there is

$$f^{-1}(f_{\max-\max}(A))(u) = f_{\max-\max}(A)(f(u)) = \bigvee_{f(u) = f(u)} A(u') \ge A(u),$$

therefore,  $f^{-1}(f_{\text{max-max}}(A)) \supseteq A$  holds. Obviously, the equation holds when f is an injective function (Bernardo et al. 2017; Hayatsu et al. 2017; Huang et al. 2017).

3) For any  $u \in U$ , there are

$$f^{-1}(f_{\max-\max}(A))(u) = f_{\max-\max}(A)(f(u)) = \bigvee_{f(u)=f(u)} A(u')$$
$$g^{-1}(g_{\max-\max}(A))(u) = g_{\max-\max}(A)(g(u)) = \bigvee_{g(u)=g(u)} A(u').$$

From  $f \ge g$  it follows that

$$\forall u' \in U, f(u') = f(u) \Rightarrow g(u)$$
. Therefore,  $\forall u \in U$ , there is  $f^{-1}(f_{\text{max-max}}(A))(u) \leq g^{-1}(g_{\text{max-max}}(A))(u)$ , so  $f^{-1}(f_{\text{max-max}}(A)) \subseteq g^{-1}(g_{\text{max-max}}(A))$ .

4) Since  $f: ([0,2], \vee, \wedge) \rightarrow (\overline{\mathbf{R}}, \vee, \wedge), x \text{ a } f(x)$ 

isomorphic mapping and 1 is an injective function, so  $\infty$  is an injective function, and therefore it can be proven by 2) (Hidaka et al. 2017; Li et al. 2017; Milione et al. 2017; Ross et al. 2017; Tatler et al. 2017)

5) For any  $u \in U$ , there is

$$0^{-1}(0_{\max-\max}(A))(u) = 0_{\max-\max}(A)(0(u))$$

$$= \bigvee_{0(u')=0(u)} A(u') = \bigvee_{u \in U} A(u').$$

6) To prove the conclusion when there are only two factors f, g in G:

For any  $u \in U$ , there is

$$\begin{split} & [h^{-1}((\uparrow_{f}^{h} f_{\text{max-max}}(A)) \cap (\uparrow_{g}^{h} g_{\text{max-max}}(A)))](u) \\ = & [(\uparrow_{f}^{h} f_{\text{max-max}}(A)) \cap (\uparrow_{g}^{h} g_{\text{max-max}}(A))](h(u)) \\ = & (\uparrow_{f}^{h} f_{\text{max-max}}(A))(f(u), g(u)) \wedge (\uparrow_{g}^{h} g_{\text{max-max}}(A))(f(u), g(u)) \\ = & f_{\text{max-max}}(A)(f(u)) \wedge g_{\text{max-max}}(A)(g(u)) \\ = & f^{-1}(f_{\text{max-max}}(A))(u) \wedge g^{-1}(g_{\text{max-max}}(A))(u) \\ = & [f^{-1}(f_{\text{max-max}}(A)) \cap g^{-1}(g_{\text{max-max}}(A))](u) \end{split}$$

therefore

$$h^{-1}((\uparrow_f^h f_{\text{max-max}}(A))) \cap (\uparrow_g^h g_{\text{max-max}}(A)))$$
  
=  $f^{-1}(f_{\text{max-max}}(A)) \cap g^{-1}(g_{\text{max-max}}(A))$ 

To generalize the results, we can get

$$\bigcap_{f \in G} f^{-1}(f_{\text{max-max}}(A)) = h^{-1}(\bigcap_{f \in G} (\uparrow_f^h f_{\text{max-max}}(A))).$$

The conclusions for min-min type representation extension and feedback extension are presented herewith (Datta 2018; Jog 2018; Martin et al. 2017; Shaffrey et al. 2017):

Theorem 6.2 For a given description frame (U, C, F], if  $\underline{\alpha} \in C$ , assuming the extension of concept  $\alpha$  in U is an  $\mathbf{R}$ -Fuzzy set A, then the following conclusions hold:

- 1)  $\forall f, g \in F, f \ge g \Rightarrow \int_g^f g_{\min-\min}(A) \subseteq f_{\min-\min}(A)$ ;
- 2)  $\forall f \in F, f^{-1}(f_{\text{max-max}}(A)) \supseteq A$ , the equation holds if f is an injective function;
- 3)  $\forall f,g \in F, f \ge g \Rightarrow f^{-1}(f_{\min-\min}(A)) \supseteq g^{-1}(g_{\min-\min}(A));$
- 4)  $\infty^{-1}(\infty_{\min-\min}(A)) = A;$
- 5)  $\forall u \in U, 0^{-1}(0_{\min}(A)^{-})(u) = \bigwedge_{u' \in U} A^{-}(u'),$  $0^{-1}(0_{\min}(A)^{+})(u) = \bigwedge_{u' \in U} A^{+}(u')^{-;}$

Assuming  $G \subseteq F$ ,  $h = \bigvee_{f \in G} f$ , if the elements in G are independent, then

$$\bigcup_{f \in G} f^{-1}(f_{\min}(A)) = h^{-1}(\bigcup_{f \in G} (\uparrow_f^h f_{\min}(A))).$$

The proof is omitted since it is the same as that of Theorem 6.1.

The conclusions for max-min type representation extension and feedback extension are presented herewith:

Theorem 6.3 For a given description frame (U, C, F], if  $\alpha \in C$ , assuming the extension of concept  $\alpha$  in U is an  $\mathbb{R}$ -Fuzzy set A, then the following conclusions hold:

- 1)  $\forall f, g \in F, f \ge g \Rightarrow \uparrow_g^f g_{\text{max-min}}(A)^- \supseteq f_{\text{max-min}}(A)^-,$  $\uparrow_g^f g_{\text{max-min}}(A)^+ \subseteq f_{\text{max-min}}(A)^+;$
- 2)  $\forall f \in F, f^{-1}(f_{\text{max-min}}(A)^{-}) \supseteq A^{-}, f^{-1}(f_{\text{max-min}}(A)^{+}) \subseteq A^{+},$  the equation holds if f is an injective function;
- 3)  $\forall f, g \in F, f \ge g \Rightarrow f^{-1}(f_{\text{max-min}}(A)^{-}) \subseteq g^{-1}(g_{\text{max-min}}(A)^{-})$  $f^{-1}(f_{\text{max-min}}(A)^{+}) \supseteq g^{-1}(g_{\text{max-min}}(A)^{+});$
- 4)  $\infty^{-1}(\infty_{\text{max-min}}(A)) = A;$
- 5)  $\forall u \in U, 0^{-1}(0_{\text{max-min}}(A)^{-})(u) = \bigvee_{u' \in U} A^{-}(u'),$  $0^{-1}(0_{\text{max-min}}(A)^{+})(u) = \bigwedge_{u' \in U} A^{+}(u');$
- 6) Assuming  $G \subseteq F, h = \bigvee_{f \in G} f$ , if the elements in G are independent, then

$$\bigcap_{f \in G} f^{-1}(f_{\text{max-min}}(A)^{-}) = h^{-1}(\bigcap_{f \in G} (\uparrow_{f}^{h} f_{\text{max-min}}(A)^{-})),$$

$$\bigcup_{f \in G} f^{-1}(f_{\text{max-min}}(A)^{+}) = h^{-1}(\bigcup_{f \in G} (\uparrow_{f}^{h} f_{\text{max-min}}(A)^{+})).$$

The proof is omitted since it is the same as that of Theorem 6.1.

The conclusions for min-max type representation extension and feedback extension are presented herewith:

Theorem 6.4 For a given description frame (U, C, F], if  $\underline{\alpha} \in C$ , assuming the extension of concept  $\alpha$  in U is an  $\mathbf{R}$ -Fuzzy set A, then the following conclusions hold:

- $\begin{array}{ll} 1) & \forall f,g \in F, f \geq g \Rightarrow \uparrow_g^f g_{\min-\max}(A)^{\scriptscriptstyle \top} \subseteq f_{\min-\max}(A)^{\scriptscriptstyle \top}, \\ & \uparrow_g^f g_{\min-\max}(A)^{\scriptscriptstyle \top} \supseteq f_{\min-\max}(A)^{\scriptscriptstyle \top}, \end{array}$
- 2)  $\forall f \in F, f^{-1}(f_{\min-\max}(A)^-) \subseteq A^-, f^{-1}(f_{\min-\max}(A)^+) \supseteq A^+, \text{the equation holds if } f \text{ is an injective function;}$
- 3)  $\forall f, g \in F, f \ge g \Rightarrow f^{-1}(f_{\min-\max}(A)^{-}) \supseteq g^{-1}(g_{\min-\max}(A)^{-})$  $f^{-1}(f_{\min-\max}(A)^{+}) \subseteq g^{-1}(g_{\min-\max}(A)^{+})$
- 4)  $\infty^{-1}(\infty_{\min-\max}(A)) = A;$
- 5)  $\forall u \in U, 0^{-1}(0_{\min-\max}(A)^{-})(u) = \bigwedge_{u' \in U} A^{-}(u'),$  $0^{-1}(0_{\min-\max}(A)^{+})(u) = \bigvee_{u' \in U} A^{+}(u');$

6) Assuming  $G \subseteq F, h = \bigvee_{f \in G} f$ , if the elements in G are independent, then

$$\bigcap_{f \in G} f^{-1}(f_{\min-\max}(A)^{-}) = h^{-1}(\bigcap_{f \in G} (\uparrow_f^h f_{\min-\max}(A)^{-})),$$

$$\bigcup_{f \in G} f^{-1}(f_{\min-\max}(A)^+) = h^{-1}(\bigcup_{f \in G} (\uparrow_f^h f_{\min-\max}(A)^+)).$$

The proof is omitted since it is the same as that of Theorem 6.1.

Additionally, collective forces of simple factors can be utilized to approximate the extension of an  $\overline{R}$ -Fuzzy concept. Here are four types of feedback extension envelopes.

Definition 6.3 For a given description frame (U, C, F], let concept  $\alpha \in C$ , and let the extension of concept  $\alpha$  in U be an  $\mathbb{R}$ -Fuzzy set A. If  $G \subseteq F$ , the elements in G are independent, thus

$$A_{\max{-\max}}^{-}[G] = \bigcap_{f \in G} f^{-}(f_{\max{-\max}}(A)^{-}), A_{\max{-\max}}^{+}[G] = \bigcap_{f \in G} f^{-}(f_{\max{-\max}}(A)^{+}).$$

 $A_{\max-\max}^-[G]$  and  $A_{\max-\max}^*[G]$  are the max type feedback extension lower envelope and max type feedback extension upper envelope of A, respectively (Huang et al. 2017; Sefusatti et al. 2018; Travin et al. 2017; Yan et al. 2018).

Definition 6.4 For a given description frame (U, C, F], let  $\underline{c}$  oncept  $\alpha \subseteq C$ , and let the extension of concept  $\alpha$  in U be an  $\mathbb{R}$  - Fuzzy set A. If  $G \subseteq F$ , the elements in G are independent. Therefore:

$$A_{\min-\min}^-[G] = \bigcup_{f \in G} f^-(f_{\min-\min}(A)^-), A_{\min-\min}^+[G] = \bigcup_{f \in G} f^-(f_{\min-\min}(A)^+).$$

 $A_{\min-\min}^-[G]$  and  $A_{\min-\min}^+[G]$  are the min type feedback extension lower envelope and min type feedback extension upper envelope of A, respectively.

Definition 6.5 For a given description frame (U, C, F], let concept  $\alpha \in C$ , and let the extension of concept  $\alpha$  in U be an  $\mathbb{R}$ -Fuzzy set A. If  $G \subseteq F$ , the elements in G are independent. Therefore:

$$A^{\scriptscriptstyle -}_{\min-\min}[G] = \bigcup_{f \in G} f^{\scriptscriptstyle -}(f_{\min-\min}(A)^{\scriptscriptstyle -}), A^{\scriptscriptstyle +}_{\min-\min}[G] = \bigcup_{f \in G} f^{\scriptscriptstyle -}(f_{\min-\min}(A)^{\scriptscriptstyle +}).$$

 $A_{\min-\min}^-[G]$  and  $A_{\min-\min}^+[G]$  are the max type feedback extension lower envelope and min type feedback extension upper envelope of A, respectively.

Definition 6.6 For a given description frame (U, C, F], let concept  $\alpha \in C$ , and let the extension of concept  $\alpha$  in U be an  $\overline{\mathbf{R}}$ -Fuzzy set A. Take  $G \subseteq F$ , the elements in G are independent. Therefore:

$$A_{\max-\min}^{-}[G] = \bigcap_{f \in G} f^{-}(f_{\max-\min}(A)^{-}), A_{\max-\min}^{+}[G] = \bigcup_{f \in G} f^{-}(f_{\max-\min}(A)^{+}).$$

 $A_{\text{max-min}}^-[G]$  and  $A_{\text{min-max}}^+[G]$  are the min type feedback extension lower envelope and max type feedback extension upper envelope of A, respectively.

In summary, four approximation approaches for  $\overline{R}$  - Fuzzy concepts extension have been presented.

#### **CONCLUSION**

The four approaches discussed are suitable for different situations: For the max type feedback extension lower envelope and max type feedback extension upper envelope, it tends to be more helpful when approximating the extension of concept. However, the result will be very conservative when the min type feedback extension lower envelope and min type feedback extension upper envelope are applied to approximate the concept extension. In contrast, the max type feedback extension lower envelope with min type feedback extension upper envelope, and the min type feedback extension lower envelope with max type feedback extension upper envelope, are both closer to the extension of concept when approximating, but their approximation processes are more complicated. Therefore, these envelopes should be applied appropriately considering specific conditions when approximating the extension of concepts.

#### ACKNOWLEDGEMENTS

I would like to express my deepest gratitude to Professors Peizhuang Wang, Xuehai Yuan, and my mentor, Honghai Mi for their instructive guidance. I am also deeply grateful for the support and help provided by my parents and my partner. I am indebted to my colleagues and friends for their valuable advice on my paper as well. Last but not least, I would like to extend my sincere gratitude to Letpub for their help in the publication of this manuscript.

## REFERENCES

- Anderson, J.M., Beyerle, G., Glaser, S., Li, L., Männel, B., Nilsson, T., Heinkelmann, R. & Schuh, H. 2018. Simulations of VLBI observations of a geodetic satellite providing colocation in space. *Journal of Geodesy* 92(1): 1-24.
- Baggen, V.J.M., Bosch, A.E.V.D., Eindhoven, J.A., Schut, A.R.W., Cuypers, J.A.A.E., Witsenburg, M., de Waart, M., van Schaik, R.H.N., Zijlstra, F., Boersma, E. & Roos-Hesselink, J.W. 2017. Prognostic value of N-terminal Pro-B-Type natriuretic peptide, Troponin-T, and growth-differentiation factor 15 in adult congenital heart disease clinical perspective. *Circulation* 135(3): 264-279.
- Bernardo, A.R., Cosgaya, J.M., Aranda, A. & Jiménez-Lara, A.M. 2017. Pro-apoptotic signaling induced by retinoic acid and dsRNA is under the control of Interferon Regulatory Factor-3 in breast cancer cells. *Apoptosis* 22(7): 920-932.
- Burkert, A., Bate, M.R. & Bodenheimer, P. 2018. Protostellar fragmentation in a power-law density distribution. *Monthly Notices of the Royal Astronomical Society* 289(3): 497-504.
- Datta, S.N. 2018. Min-max and max-min principles for the solution of 2+1 Dirac fermion in magnetic field, graphene

- lattice and layered diatomic materials. *Chemical Physics Letters* 692: 313-318.
- Francoenzástiga, Ú., Santanamartínez, R.A., Silvaislas, C.A., Barrera-Oviedo, D., Chánez-Cárdenas, M.E. & Maldonado, P.D. 2017. Chronic administration of s-allylcysteine activates Nrf2 factor and enhances the activity of antioxidant enzymes in the striatum, frontal cortex and hippocampus. *Neurochemical Research* 42(3): 1-11.
- Garg, H. & Arora, R. 2018. Generalized and group-based generalized intuitionistic fuzzy soft sets with applications in decision-making. *Applied Intelligence* 48(2): 343-356.
- Hayatsu, N., Miyao, T., Tachibana, M., Murakami, R., Kimura, A., Kato, T., Kawakami, E., Endo, T.A., Setoguchi, R., Watarai, H., Nishikawa, T., Yasuda, T., Yoshida, H. & Hori, S. 2017. Analyses of a mutant Foxp3 allele reveal BATF as a critical transcription factor in the differentiation and accumulation of tissue regulatory T cells. *Immunity* 47(2): 268-283.
- Hidaka, T., Ogawa, E., Kobayashi, E.H., Suzuki, T., Funayama, R., Nagashima, T., Fujimura, T., Aiba, S., Nakayama, K., Okuyama, R. & Yamamoto, M. 2017. The aryl hydrocarbon receptor AhR links atopic dermatitis and air pollution *via* induction of the neurotrophic factor artemin. *Nature Immunology* 18(1): 64-73.
- Huang, G., Li, F., Zhao, X., Ma, Y., Li, Y., Lin, M., Jin, G., Lu, T.J., Genin, G.M. & Xu, F. 2017. Functional and biomimetic materials for engineering of the three-dimensional cell microenvironment. *Chemical Reviews* 117(20): 12764-12850.
- Huang, T., Gejl, A.K., Tarp, J., Peijs L. & Bugge, A. 2017. Cross-sectional associations of objectively measured physical activity with brain-derived neurotrophic factor in adolescents. *Physiology & Behavior* 171: 87-91.
- Jaffe, Y.L., Poggianti, B.M., Moretti, A., Gullieuszik, M., Smith,
  R., Vulcani, B., Fasano, G., Fritz, J., Tonnesen, S., Bettoni,
  D., Hau, G., Biviano, A., Bellhouse, C. & McGee, S. 2018.
  GASP IX. jellyfish galaxies in phase-space: an orbital study of intense ram-pressure stripping in clusters. *Monthly Notices of the Royal Astronomical Society* 476(4): 4753-4764.
- Jog, C.J. 2018. Local stability criterion for stars and gas in a galactic disc. *Monthly Notices of the Royal Astronomical* Society 278(1): 209-218.
- Konieczny, K., Bkowicz, J., Siedlecka, R., Galica, T. & Turowska-Tyrk, I. 2017. The photo-induced structural changes as the factor influencing the direction of the photochemical reaction in the crystal. *Crystal Growth & Design* 17(3): 1347-1352.
- Li, W., Zhu, Z., Chern, M., Yin., J., Yang, C., Li, R., Cheng, M., He, M., Wang, K., Wang, J., Zhou, X., Zhu, X., Chen, Z., Wang, J., Zhao, W., Ma, B., Qin, P., Chen, W. & Chen, X. 2017. A natural allele of a transcription factor in rice confers broad-spectrum blast resistance. *Cell* 170(1): 114-126.
- Martin, J.L., Julovi, S.M., Lin, M.Z., de Silva, H.C., Boyle, F.M. & Baxter, R.C. 2017. Inhibition of basal-like breast cancer growth by FTY720 in combination with epidermal growth factor receptor kinase blockade. *Breast Cancer Research* 19(1): 90.
- Milione, M., Maisonneuve, P., Pellegrinelli, A., Pusceddu, S, Centonze, G., Dominoni, F., Brambilla, C., Rubino, M., Faggiano, A., Buzzoni, R., Concas, L., Giacomelli, L., Coppa, J., Mazzaferro, V. & de Braud, F. 2017. Loss of succinate dehydrogenase subunit B (SDHB) as a prognostic factor in advanced ileal well-differentiated neuroendocrine tumors. *Endocrine* 57(3) 512-517.

- Neill, T., Sharpe, C., Owens, R.T. & Iozzo, R.V. 2017. Decorinevoked paternally expressed gene 3 (PEG3) is an upstream regulator of the transcription factor EB (TFEB) in endothelial cell autophagy. *Journal of Biological Chemistry* 292(39): 16211-16220
- Rikka, S., Pleskachevsky, A., Uiboupin, R. & Jacobsen, S. 2018. Sea state in the baltic sea from space-borne high-resolution synthetic aperture radar imagery. *International Journal of Remote Sensing* 39(4): 1256-1284.
- Ross, D.S., Zehir, A., Cheng, D.T., Ryma Benayed, Khedoudja Nafa, Hechtman, J.F., Janjigian, Y.Y., Weigelt, B., Razavi, P., Hyman, D.M., Baselga, J., Berger, M.F., Ladanyi, M. & Arcila, M.E. 2017. Next-generation assessment of human epidermal growth factor receptor 2 (ERBB2) amplification status: Clinical validation in the context of a hybrid capturebased, comprehensive solid tumor genomic profiling assay. *Journal of Molecular Diagnostics* 19(2): 244-254.
- Sefusatti, E., Crocce, M., Scoccimarro, R. & Couchman, H. 2018. Accurate estimators of correlation functions in Fourier space. *Monthly Notices of the Royal Astronomical Society* 460(4): 3624-3636.
- Sefusatti, E., Zaharijas, G., Serpico, P.D., Theurel, D. & Gustafsson, M. 2018. Extragalactic gamma-ray signal from dark matter annihilation: An appraisal. *Monthly Notices of the Royal Astronomical Society* 441(3): 1861-1878.
- Shaffrey, L.C., Hodson, D., Robson, J., Stevens, D.P., Hawkins, E., Polo, I., Stevens, I., Sutton, R.T., Lister, G., Iwi, A., Smith, D. & Stephens, A. 2017. Decadal predictions with the HiGEM high resolution global coupled climate model: Description and basic evaluation. *Climate Dynamics* 48(1-2): 297-311.
- Siwak, M., Ogloza, W., Moffat, A.F.J., Matthews, J.M., Rucinski, S.M., Kallinger, T., Kuschnig, R., Cameron, C., Weiss, W.W., Rowe, J.F., Guenther, D.B. & Sasselov, D. 2018. Photometric variability of TW~Hya from seconds to years as seen from space and the ground in 2013-2017. Monthly Notices of the Royal Astronomical Society 478(1): 758-783.
- Story, B.H., Bunton, K. & Diamond, R. 2018. Changes in vowel space characteristics during speech development based on longitudinal of measurements of formant frequencies. *Journal* of the Acoustical Society of America 143(3): 1971-1971.
- Tatler, B.W., Brockmole, J.R. & Carpenter, R.H.S. 2017. Latest: A model of saccadic decisions in space and time. *Psychological Review* 124(3): 267-300.
- Travin, M.I., Henzlova, M.J., Van EckSmit, B.L., Jain, D., Carrió, I., Folks, R.D., Garcia, E.V., Jacobson, A.F. & Verberne, H.J. 2017. Assessment of (123)I-mIBG and (99m) Tc-tetrofosmin single-photon emission computed tomographic images for the prediction of arrhythmic events in patients with ischemic heart failure: Intermediate severity innervation defects are associated with higher arrhythmic risk. *Journal of Nuclear Cardiology* 24(2): 377-391.

- Van Hoof, P.A.M., Ferland, G.J., Williams, R.J.R., Chatzikost, M., Lykins, M.L. & Porter, R.L. 2018. Accurate determination of the free-free gaunt factor - ii. relativistic gaunt factors. *Monthly Notices of the Royal Astronomical Society* 444(1): 420-428.
- Verma, O.P. & Parihar, A.S. 2017. An optimal fuzzy system for edge detection in color images using bacterial foraging algorithm. *IEEE Transactions on Fuzzy Systems* 25(1): 114-127.
- Yan, S., Sun, H., Min, S., Li, J. & Li, X. 2018. Constructing a robust topology for reliable communications in multi-channel cognitive radio ad hoc networks. *IEEE Communications Magazine* 56(4): 172-179.
- Zhang, J., Liu, Y., Zhu, Z., Yang, S., Ji, K., Hu, S., Liu, X., Yao, J., Fan, R. & Dong, C. 2017. Role of microRNA508-3p in melanogenesis by targeting microphthalmia transcription factor in melanocytes of alpaca. *Animal* 11(2): 236-243.
- Zhou, L., Li, H. & Sun, K. 2017. Teaching performance evaluation by means of a hierarchical multifactorial evaluation model based on type-2 fuzzy sets. *Applied Intelligence* 46(1): 34-44.
- Zvika, B. & Guy, N.R. 2017. Obfuscating conjunctions. *Journal of Cryptology* 30(1): 289-320.

Siyuan Liu & Tsangcheung Choy\* Faculty of Information Technology Macau University of Science and Technology 999078, Macau China

Siyuan Liu & Honghai Mi School of Applied Mathematics Beijing Normal University 519000, Zhuhai China

\*Corresponding author; email: double286@163.com

Received: 21 February 2019 Accepted: 23 December 2019